INSTALLATION
INSTRUCTIONS -

SHOWER | PREMIUM BATH SCREEN
GLASS BATH SCREEN FITTING

Englefield ‘*

Bt I ) o ] _ L J—
S [ R p T
—_— |.'_I i ;;/r r I_‘\ | l
W ZZ IR
o BRI
[T ~+— 1 _ __;_ 1 _l_ _
| 7 |
S I I S S B
‘ 1 o
- |
Tt —
. . . s
Englefield has a history of making - @! | ‘
superb showers and their popularity is A7 T L
testament to their quality and o /J/,: l. : i i
affordability. Voa— L
N i | |
It's the details that Englefield cares e |_ o !
about - from pioneering the latest ,/'} R i— T T T
technology, to innovative design, it's LT i | | | |
. . J L
all to make your showering experience [ e B
the very best it can be. [ - —
///_-___l_-_ _T“ - ﬁ*— T __—TI’ e e
- | ! |
) ]

V087600-A02-K  July 2022 www.englefield.co.nz




PREMIUM BATH SCREEN INSTALLATION INSTRUCTIONS

BEFORE YOU BEGIN:

Before installing the shower please read these instructions carefully to familiarise yourself with
the required tools, materials, and installation sequences. Please leave these instructions for
the consumer after installation. Refer to the separate care and maintenance guide for import -
ant care and cleaning information.

Ensure that the installation of the shower tray and wall, where applicable, is completed prior to
the installation of the shower door. Follow all warnings, cautions and instructions
contained in this guide.

SAFETY

1. ENGLEFIELD strongly recommends that a minimum of TWO persons install this enclosure
due to the weight of the door panels.

2. Toughened safety glass cannot be cut. Risk of injury or product damage.
3. Wear protective footwear when lifting panels.

4. Wear safety glasses when drilling.

ATTENTION

1. Bath screens must be installed in situations where the floor of the bathroom has a waterproof

membrane installed.
For New Zealand, the bath screen must be installed in accordance with NZBC E3/AST1 clause 3.1.1.
For other countries, the bath screen must be installed in accordance with local building codes.

2. Please install this door onto an ENGLEFIELD BATH, unless installing directly onto tiled walls
and floor.

3. Care must be taken when drilling into walls and floors to avoid any hidden pipes or wires.

4. ltis the responsibility of the INSTALLER to ensure that the installation complies with coun-
cil and or local authority bylaws.

TOOLS AND MATERIALS REQUIRED:
Tools required

e Level

E®@ :
° -|F;ape.| ﬂ:l__ED mial‘n |
* Penci PR
Flat blade screwdriver l<1 (= |

Philips screwdriver \ “ N
* Ruler —
e Drill ©
* Centre-punch :

="

¢ Hacksaw

* Soft hammer/mallet
* Caulking gun

* Stanley knife

V087600-A02-K  July 2022 www.englefield.co.nz



PREMIUM BATH SCREEN INSTALLATION INSTRUCTIONS

PARTS IDENTIFICATION:
Parts List - Exploded View

NYLON |
ANCHOR ! ﬁ'l '
] ®

V087600-A02-K  July 2022 www.englefield.co.nz




PREMIUM BATH SCREEN

INSTALLATION INSTRUCTIONS

PARTS LIST- BATH SCREEN

NOTE: WHEN ORDERING, THE FOLLOWING INFORMATION IS ALWAYS REQUIRED:
WIDTH OF ENCLOSURE, COLOUR

ITEM NO.| PART NO. | DESCRIPTION ITEM NO. | PART NO.| DESCRIPTION
1 Q6080XX | Door Hinge Post Retainer 9 (6334XX | Hinge Post Screw Plug
2 [Q6090XX | Door Hinge Post 10 | Q633250 | Hinge Post Ajuster S/S
3 | Q6150XX | Hinge Body 11 Q910100 | Screw 8 x 65 Pan Head
4 | Q6155XX | Hinge Inner 12 | Q634072 | Seal Door Edge
5 Q633200 | Hinge Pad 13 10634080 | Seal Wall
6 Q912330 | Cap Screw M8 x 20 CSK 14 | Q634060 | Seal Drip Edge
7 10616000 | Slotted Nylon Bush 15 1Q6355XX | Top Cap Hinge Post
8 | Q6338XX | Hinge Covers 16 | Q6355XX | Top Cap Hinge Post
17 1 Q6397XX| Handle
V087600-A02-K July 2022 Page 4 www.englefield.co.nz



PREMIUM BATH SCREEN INSTALLATION INSTRUCTIONS

INSTALLATION - OPTIONS:

AUTION: BEFORE DR Fit Bottom Cap to Hinge Post Set adjusting screws using
OLD i RE ARE NO Retainer. - = 6mm spacer provided.
RIC CAB DR WATER 1
DID BEHIND | 1 omm
DH NT( A o —
' ) R f ' DR ' » »

g

o ) DISASSEMBLE GLASS FROM
Position Hinge Post retainer central HINGE POST.

on top of bath Tiling Bead.

f Insert Hinge Post over Wall
Retainer and slide down into

T T — ";%fjk"r‘ position on Bottom Cap.
| :

WALL HINGE POST
— — RETAINER
| el |
‘ !
]
N .

3 Ensure Hinge Post Retainer
= profile is plumb and ‘T’
stamp is to the top. .
Anchor Hinge Post Retainer into o
wall stud for maximum support. |
- @,T, 70 TOP Using 3mm drill supplied, mark
L~ Q‘% position of holes on wall through
(;n extrusion. Remove extrusion and
I using 6mm drill supplied, drill holes
h! | (T;'(')V'NB:TRRUCTION in wall for nylon anchors.
!l Fix with Screw No.8 x 65mm.
|l SCREW No.8 x 65 mm i
WALL sTUD ™~ %@
‘T T0 TOP rob— e
BRICK - : | | F.!';-..Tﬂ'
CONSTRUCTION |15 | | ol
ll e '<| 1
== =T
N, 7 1
6.0mm L] e - |
NYLON . : RS
ANCHOR &/ - =
BRICK L/H SIDE PANEL R/H SIDE PANEL
SCREW No.8 x 65 mm ASSEMBLED UNIT

V087600-A02-K  July 2022 www.englefield.co.nz



PREMIUM BATH SCREEN

INSTALLATION INSTRUCTIONS

INSTALLATION - OPTIONS:

For “out-of-true” walls, level
« Hinge Post using adjusting

SCrews.

T

i:z

Max 22mm

.
]
=
]

3

Max 22mm

T-Ac-

L

6 Position Door Edge Seal.

IMPORTANT: ENSURE BOTTOM
OF DOOR EDGE SEAL IS
CORRECTLY FITTED AS SHOWN.

8 On the inside of the Hinge
« Post, fit slotted plastic bush
through the hole in the glass.

IMPORTANT

Oninside of Hinge Postfit
the slotted plastic bush ===+
throughthe hole inthe glass. /_ I
N .
Ensure thatthe slotin the ‘*\\( )
top bushis verticaland o
the slot in the bottom
bush is horizontal.

TOP HINGE

Using M8 CSK screw attach
Inner Hinge Plate.

Tighten screws firmly
to secure glass.

BOTTOM HINGE

IMPORTANT: ADJUSTMENT
SCREWS MUST BE ADJUSTED IN
SEQUENCE TO AVOID
DISTORTION OF HINGE POST.

V087600-A02-K

July 2022

Position glass using the

Spacers supplied.
CAUTION: Care must be taken
to avoid cross-threading the
cap screws in the Hinge Plate.

Level top of /
glass with Top

Cap. k

Trim the top of the Door
« Edge Seal flush with
the glass.

1 Fit Top Cap in place using
®= silicone and tape down.

FIT HANDLES FOLLOWING
INSTRUCGTIONS ON
LOCATION LABEL.

Page 6

www.englefield.co.nz




PREMIUM BATH SCREEN INSTALLATION INSTRUCTIONS

INSTALLATION - OPTIONS:

11 Slide on the. four Hinge Covers 12 Attach Door Drip Edge Seal. Using Silicone Sealant provided,
. - seal full height between walls

and Wall Retainer Profiles, and
all other exterior joins.

|

r
7
”
/‘
4

Position the logo as shown after
door installation. One logo on

the front of the door and one on Fit Screw Plugs
the reverse.
__HORIZONTAL DIMENSIONS Use the primer pen attached to
EQUAL thoroughly prime all joints before
o 2 application of sealant supplied.
y bt e Allow 20 minutes for the primer to MARK
! 2 dry before application of the seal-
| )
bz = ant.
HTO =5 Failure to prime before
] 22 silicone application will
! = void the warranty.
o m s
= ’ ¢
IMPORTANT: S0
. SALLEHLE L IMPORTANT: NOTE ORIENTATION
o SHOULD BE APPLIED TO ALL OF SCREW PLUG HEAD
TOP HINGE OUTSIDE JOINTS - DONOT MARK SHOULD BE LOCATED TO
’ SIDE AS SHOWN.
IS\H'I;E%}\EI'ION (b) Hold tube at 45° angle and ~ ALLOW SILICONE 24 HOURS TO CURE
. t push forward as sealant fills the ~ BEFORE closing door to avoid the Drip
(a) Cut tip of Silicone Tube Nozzle joint. Edge Seal dislodging the Sill.

at 45° angle. (c) The surface of the sealant can

be smoothed (before surface dries) CAUTION: Avoid contact with skin,
by using a finger dipped in a small  eyes and mouth and avoid breathing
quantity of water with one drop of  yapour. If in eyes immediately flush
washing-up liquid added. with water. If irritation persists, seek
(d)Excess silicone should be re-  medical attention. Keep out of reach
rr|10\§]ed immediately with a damp  of children.

cloth.

V087600-A02-K  July 2022 www.englefield.co.nz




EVORA FRAMELESS Corner Sliding Door INSTALLATION INSTRUCTIONS

CONTACT AND WARRANTY INFORMATION:

NEW ZEALAND AUSTRALIA

KOHLER NZ LTD KOHLER AUSTRALIA

Free Ph: 0800 100 382 Free Ph: 1 800 ENGLEFIELD e
Free Fax: 0800 664 488 (1800 364 533) Englefield @
www.englefield.co.nz www.englefield.com

For warranty information, please visit our website.

V087600-A02-K  July 2022 www.englefield.co.nz



